

XX

:
:
:
:
:

X Math@MUT XXXM5/1-6700306-00001XX
TrigonometryExercise6 for No.9844

$$\begin{aligned}
 No1 &= \left[\begin{array}{ll} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 3 = 0) \\ .3 = (\sin(3\theta) = 0) & .4 = (\cos(2\theta) = 1) \end{array} \right] \\
 No2 &= \left[\begin{array}{ll} .1 = (2 [\sin(\theta)]^2 - \sin(\theta) - 1 = 0) & .2 = (2 [\sin(\theta)]^2 - \cos(\theta) - 1 = 0) \\ .3 = (2 [\sin(\theta)]^2 - \sin(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - 3 \cos(\theta) = 0) \end{array} \right] \\
 No3 &= \left[\begin{array}{ll} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 3 = 0) \\ .3 = (\cos(3\theta) = 0) & .4 = (\sin(4\theta) = 1) \end{array} \right] \\
 No4 &= \left[\begin{array}{ll} .1 = (2 [\cos(\theta)]^2 - 3 \cos(\theta) + 1 = 0) & .2 = (2 [\sin(\theta)]^2 - 3 \cos(\theta) - 3 = 0) \\ .3 = (2 [\sin(\theta)]^2 + \sin(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - \cos(\theta) = 0) \end{array} \right] \\
 No5 &= \left[\begin{array}{ll} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 = 1) \\ .3 = (\tan(\theta) \sin(\theta) = \tan(\theta)) & .4 = ([\tan(\theta)]^2 - 1 = 0) \end{array} \right]
 \end{aligned}$$

XX

:
:
:
:
:

X Math@MUT XXXM5/1-6700306-00002XX
TrigonometryExercise6 for No.9872

$$\begin{aligned}
 No1 &= \left[\begin{array}{ll} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 1 = 0) \\ .3 = (\cos(3\theta) = 0) & .4 = (\cos(4\theta) = 1) \end{array} \right] \\
 No2 &= \left[\begin{array}{ll} .1 = (2 [\cos(\theta)]^2 + 3 \cos(\theta) + 1 = 0) & .2 = (2 [\sin(\theta)]^2 - \cos(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 + \cos(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \sin(\theta) = \tan(\theta)) & .6 = (4 [\sin(\theta)]^3 - \sin(\theta) = 0) \end{array} \right] \\
 No3 &= \left[\begin{array}{ll} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 3 = 0) \\ .3 = (\sin(2\theta) = 0) & .4 = (\sin(3\theta) = 1) \end{array} \right] \\
 No4 &= \left[\begin{array}{ll} .1 = (2 [\cos(\theta)]^2 - \cos(\theta) - 1 = 0) & .2 = (2 [\cos(\theta)]^2 + 3 \sin(\theta) - 3 = 0) \\ .3 = (2 [\sin(\theta)]^2 - \sin(\theta) = 0) & .4 = (\sin(\theta) + \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \sin(\theta) = \sin(\theta)) & .6 = (4 [\cos(\theta)]^3 - \cos(\theta) = 0) \end{array} \right] \\
 No5 &= \left[\begin{array}{ll} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 = 1) \\ .3 = (2 \tan(\theta) \sin(\theta) = \tan(\theta)) & .4 = (3 [\tan(\theta)]^2 - 1 = 0) \end{array} \right]
 \end{aligned}$$

X [Page = 0001] XXX

:
:
:
:
:
:
:
:
:
:
:

XX

:
:
:
:
:

X Math@MUT XXXM5/1-6700306-00011XX
TrigonometryExercise6 for No.10017

$$\begin{aligned}
 \text{No1} &= \left[\begin{array}{ll} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 3 = 0) \\ .3 = (\cos(4 \theta) = 0) & .4 = (\sin(2 \theta) = 1) \end{array} \right] \\
 \text{No2} &= \left[\begin{array}{ll} .1 = (2 [\cos(\theta)]^2 + \cos(\theta) - 1 = 0) & .2 = (2 [\sin(\theta)]^2 + \cos(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 + \cos(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \sin(\theta) = \sin(\theta)) & .6 = (4 [\sin(\theta)]^3 - \sin(\theta) = 0) \end{array} \right] \\
 \text{No3} &= \left[\begin{array}{ll} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 3 = 0) \\ .3 = (\sin(4 \theta) = 0) & .4 = (\sin(3 \theta) = 1) \end{array} \right] \\
 \text{No4} &= \left[\begin{array}{ll} .1 = (2 [\cos(\theta)]^2 - 3 \cos(\theta) + 1 = 0) & .2 = (2 [\cos(\theta)]^2 - 3 \sin(\theta) - 3 = 0) \\ .3 = (2 [\sin(\theta)]^2 - \sin(\theta) = 0) & .4 = (\sin(\theta) + \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \cos(\theta)) & .6 = (4 [\sin(\theta)]^3 - 3 \sin(\theta) = 0) \end{array} \right] \\
 \text{No5} &= \left[\begin{array}{ll} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 = 1) \\ .3 = (\tan(\theta) \cos(\theta) = \tan(\theta)) & .4 = ([\tan(\theta)]^2 - 1 = 0) \end{array} \right]
 \end{aligned}$$

XX

:
:
:
:
:

X Math@MUT XXXM5/1-6700306-00012XX
TrigonometryExercise6 for No.10025

$$\begin{aligned}
 \text{No1} &= \left[\begin{array}{ll} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 3 = 0) \\ .3 = (\sin(3 \theta) = 0) & .4 = (\cos(3 \theta) = 1) \end{array} \right] \\
 \text{No2} &= \left[\begin{array}{ll} .1 = (2 [\cos(\theta)]^2 + \cos(\theta) - 1 = 0) & .2 = (2 [\sin(\theta)]^2 - 3 \cos(\theta) - 3 = 0) \\ .3 = (2 [\sin(\theta)]^2 + \sin(\theta) = 0) & .4 = (\sin(\theta) + \cos(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \sin(\theta) = \tan(\theta)) & .6 = (4 [\sin(\theta)]^3 - \sin(\theta) = 0) \end{array} \right] \\
 \text{No3} &= \left[\begin{array}{ll} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 3 = 0) \\ .3 = (\sin(2 \theta) = 0) & .4 = (\cos(2 \theta) = 1) \end{array} \right] \\
 \text{No4} &= \left[\begin{array}{ll} .1 = (2 [\sin(\theta)]^2 - 3 \sin(\theta) + 1 = 0) & .2 = (2 [\cos(\theta)]^2 + \sin(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 - \cos(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - 3 \cos(\theta) = 0) \end{array} \right] \\
 \text{No5} &= \left[\begin{array}{ll} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 = 1) \\ .3 = (2 \tan(\theta) \cos(\theta) = \tan(\theta)) & .4 = (3 [\tan(\theta)]^2 - 1 = 0) \end{array} \right]
 \end{aligned}$$

X [Page = 0006] XXX

:
:
:
:
:
:
:
:
:
:
:

XXX
 :
 :
 :
 :
 X Math@MUT XXXM5/1-6700306-00013XX
 TrigonometryExercise6 for No.10057

$$No1 = \left[\begin{array}{ll} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 3 = 0) \\ .3 = (\sin(3\theta) = 0) & .4 = (\sin(4\theta) = 1) \end{array} \right]$$

$$No2 = \left[\begin{array}{ll} .1 = (2 [\sin(\theta)]^2 + 3 \sin(\theta) + 1 = 0) & .2 = (2 [\cos(\theta)]^2 - \sin(\theta) - 1 = 0) \\ .3 = (2 [\sin(\theta)]^2 + \sin(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\sin(\theta)]^3 - 3 \sin(\theta) = 0) \end{array} \right]$$

$$No3 = \left[\begin{array}{ll} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 1 = 0) \\ .3 = (\cos(2\theta) = 0) & .4 = (\sin(2\theta) = 1) \end{array} \right]$$

$$No4 = \left[\begin{array}{ll} .1 = (2 [\cos(\theta)]^2 - 3 \cos(\theta) + 1 = 0) & .2 = (2 [\cos(\theta)]^2 + \sin(\theta) - 1 = 0) \\ .3 = (2 [\sin(\theta)]^2 - \sin(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \sin(\theta) = \sin(\theta)) & .6 = (4 [\cos(\theta)]^3 - \cos(\theta) = 0) \end{array} \right]$$

$$No5 = \left[\begin{array}{ll} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 = 3) \\ .3 = (\tan(\theta) \sin(\theta) = \tan(\theta)) & .4 = ([\tan(\theta)]^2 - 3 = 0) \end{array} \right]$$

XXX
 :
 :
 :
 :
 X Math@MUT XXXM5/1-6700306-00014XX
 TrigonometryExercise6 for No.10061

$$No1 = \left[\begin{array}{ll} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 3 = 0) \\ .3 = (\sin(2\theta) = 0) & .4 = (\sin(4\theta) = 1) \end{array} \right]$$

$$No2 = \left[\begin{array}{ll} .1 = (2 [\sin(\theta)]^2 - 3 \sin(\theta) + 1 = 0) & .2 = (2 [\sin(\theta)]^2 - 3 \cos(\theta) - 3 = 0) \\ .3 = (2 [\sin(\theta)]^2 + \sin(\theta) = 0) & .4 = (\sin(\theta) + \cos(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - 3 \cos(\theta) = 0) \end{array} \right]$$

$$No3 = \left[\begin{array}{ll} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 1 = 0) \\ .3 = (\cos(2\theta) = 0) & .4 = (\cos(3\theta) = 1) \end{array} \right]$$

$$No4 = \left[\begin{array}{ll} .1 = (2 [\cos(\theta)]^2 + \cos(\theta) - 1 = 0) & .2 = (2 [\cos(\theta)]^2 + \sin(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 - \cos(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \sin(\theta) = \sin(\theta)) & .6 = (4 [\sin(\theta)]^3 - 3 \sin(\theta) = 0) \end{array} \right]$$

$$No5 = \left[\begin{array}{ll} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\sin(\theta)]^2 = 1) \\ .3 = (\tan(\theta) \sin(\theta) = \tan(\theta)) & .4 = ([\tan(\theta)]^2 - 1 = 0) \end{array} \right]$$

X [Page = 0007] XX
 :
 :
 :
 :
 :
 :
 :
 :

XX

:
:
:
:
:

X Math@MUT XXXM5/1-6700306-00019XX
TrigonometryExercise6 for No.10914

$$No1 = \begin{bmatrix} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 3 = 0) \\ .3 = (\cos(4 \theta) = 0) & .4 = (\cos(2 \theta) = 1) \end{bmatrix}$$

$$No2 = \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 + 3 \cos(\theta) + 1 = 0) & .2 = (2 [\sin(\theta)]^2 + \cos(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 - \cos(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - 3 \cos(\theta) = 0) \end{bmatrix}$$

$$No3 = \begin{bmatrix} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 1 = 0) \\ .3 = (\sin(3 \theta) = 0) & .4 = (\sin(4 \theta) = 1) \end{bmatrix}$$

$$No4 = \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 - 3 \cos(\theta) + 1 = 0) & .2 = (2 [\cos(\theta)]^2 - \sin(\theta) - 1 = 0) \\ .3 = (2 [\sin(\theta)]^2 + \sin(\theta) = 0) & .4 = (\sin(\theta) + \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\sin(\theta)]^3 - \sin(\theta) = 0) \end{bmatrix}$$

$$No5 = \begin{bmatrix} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 = 3) \\ .3 = (\tan(\theta) \cos(\theta) = \cos(\theta)) & .4 = ([\tan(\theta)]^2 - 1 = 0) \end{bmatrix}$$

XX

:
:
:
:
:

X Math@MUT XXXM5/1-6700306-00020XX
TrigonometryExercise6 for No.10945

$$No1 = \begin{bmatrix} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 3 = 0) \\ .3 = (\cos(2 \theta) = 0) & .4 = (\sin(4 \theta) = 1) \end{bmatrix}$$

$$No2 = \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 + \cos(\theta) - 1 = 0) & .2 = (2 [\cos(\theta)]^2 + 3 \sin(\theta) - 3 = 0) \\ .3 = (2 [\sin(\theta)]^2 + \sin(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - 3 \cos(\theta) = 0) \end{bmatrix}$$

$$No3 = \begin{bmatrix} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 1 = 0) \\ .3 = (\sin(2 \theta) = 0) & .4 = (\cos(4 \theta) = 1) \end{bmatrix}$$

$$No4 = \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 + 3 \cos(\theta) + 1 = 0) & .2 = (2 [\sin(\theta)]^2 + \cos(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 - \cos(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \sin(\theta) = \tan(\theta)) & .6 = (4 [\sin(\theta)]^3 - \sin(\theta) = 0) \end{bmatrix}$$

$$No5 = \begin{bmatrix} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 = 1) \\ .3 = (\tan(\theta) \sin(\theta) = \tan(\theta)) & .4 = ([\tan(\theta)]^2 - 3 = 0) \end{bmatrix}$$

X [Page = 0010] XXX

:
:
:
:
:
:
:
:
:
:

XX

:
:
:
:
:

X Math@MUT XXXM5/1-6700306-00025XX
TrigonometryExercise6 for No.11309

$$No1 = \left[\begin{array}{ll} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 1 = 0) \\ .3 = (\sin(2\theta) = 0) & .4 = (\cos(2\theta) = 1) \end{array} \right]$$

$$No2 = \left[\begin{array}{ll} .1 = (2 [\sin(\theta)]^2 - 3 \sin(\theta) + 1 = 0) & .2 = (2 [\cos(\theta)]^2 - \sin(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 - \cos(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \cos(\theta)) & .6 = (4 [\sin(\theta)]^3 - 3 \sin(\theta) = 0) \end{array} \right]$$

$$No3 = \left[\begin{array}{ll} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 1 = 0) \\ .3 = (\sin(3\theta) = 0) & .4 = (\cos(4\theta) = 1) \end{array} \right]$$

$$No4 = \left[\begin{array}{ll} .1 = (2 [\sin(\theta)]^2 + 3 \sin(\theta) + 1 = 0) & .2 = (2 [\sin(\theta)]^2 + \cos(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 + \cos(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \sin(\theta) = \tan(\theta)) & .6 = (4 [\sin(\theta)]^3 - \sin(\theta) = 0) \end{array} \right]$$

$$No5 = \left[\begin{array}{ll} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 = 3) \\ .3 = (\tan(\theta) \sin(\theta) = \tan(\theta)) & .4 = ([\tan(\theta)]^2 - 1 = 0) \end{array} \right]$$

XX

:
:
:
:
:

X Math@MUT XXXM5/1-6700306-00026XX
TrigonometryExercise6 for No.12483

$$No1 = \left[\begin{array}{ll} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 1 = 0) \\ .3 = (\cos(2\theta) = 0) & .4 = (\sin(2\theta) = 1) \end{array} \right]$$

$$No2 = \left[\begin{array}{ll} .1 = (2 [\cos(\theta)]^2 - 3 \cos(\theta) + 1 = 0) & .2 = (2 [\sin(\theta)]^2 - 3 \cos(\theta) - 3 = 0) \\ .3 = (2 [\cos(\theta)]^2 + \cos(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \sin(\theta) = \tan(\theta)) & .6 = (4 [\sin(\theta)]^3 - 3 \sin(\theta) = 0) \end{array} \right]$$

$$No3 = \left[\begin{array}{ll} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 3 = 0) \\ .3 = (\sin(4\theta) = 0) & .4 = (\cos(4\theta) = 1) \end{array} \right]$$

$$No4 = \left[\begin{array}{ll} .1 = (2 [\sin(\theta)]^2 - \sin(\theta) - 1 = 0) & .2 = (2 [\sin(\theta)]^2 - \cos(\theta) - 1 = 0) \\ .3 = (2 [\sin(\theta)]^2 - \sin(\theta) = 0) & .4 = (\sin(\theta) + \cos(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - 3 \cos(\theta) = 0) \end{array} \right]$$

$$No5 = \left[\begin{array}{ll} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 = 3) \\ .3 = (\tan(\theta) \cos(\theta) = \tan(\theta)) & .4 = (3 [\tan(\theta)]^2 - 1 = 0) \end{array} \right]$$

X [Page = 0013] XXX

:
:
:
:
:
:
:
:
:
:
:
:
:

XX

:
:
:
:
:

X Math@MUT XXXM5/1-6700306-00029XX

TrigonometryExercise6 for No.12689

$$No1 = \left[\begin{array}{l} .1 = (2 \cos(\theta) - 1 = 0) \quad .2 = (4 [\cos(\theta)]^2 - 3 = 0) \\ .3 = (\cos(4 \theta) = 0) \quad .4 = (\sin(4 \theta) = 1) \end{array} \right]$$

$$No2 = \left[\begin{array}{l} .1 = (2 [\sin(\theta)]^2 - \sin(\theta) - 1 = 0) \quad .2 = (2 [\cos(\theta)]^2 + 3 \sin(\theta) - 3 = 0) \\ .3 = (2 [\sin(\theta)]^2 - \sin(\theta) = 0) \quad .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \tan(\theta)) \quad .6 = (4 [\cos(\theta)]^3 - 3 \cos(\theta) = 0) \end{array} \right]$$

$$No3 = \left[\begin{array}{l} .1 = (2 \sin(\theta) - 1 = 0) \quad .2 = (4 [\sin(\theta)]^2 - 1 = 0) \\ .3 = (\cos(2 \theta) = 0) \quad .4 = (\cos(3 \theta) = 1) \end{array} \right]$$

$$No4 = \left[\begin{array}{l} .1 = (2 [\cos(\theta)]^2 + \cos(\theta) - 1 = 0) \quad .2 = (2 [\sin(\theta)]^2 - 3 \cos(\theta) - 3 = 0) \\ .3 = (2 [\sin(\theta)]^2 + \sin(\theta) = 0) \quad .4 = (\sin(\theta) + \cos(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \cos(\theta) = \tan(\theta)) \quad .6 = (4 [\cos(\theta)]^3 - \cos(\theta) = 0) \end{array} \right]$$

$$No5 = \left[\begin{array}{l} .1 = (2 \sin(\theta) + 1 = 0) \quad .2 = (4 [\cos(\theta)]^2 = 1) \\ .3 = (\tan(\theta) \sin(\theta) = \tan(\theta)) \quad .4 = ([\tan(\theta)]^2 - 3 = 0) \end{array} \right]$$

XX

:
:
:
:
:

X Math@MUT XXXM5/1-6700306-00030XX

TrigonometryExercise6 for No.13349

$$No1 = \left[\begin{array}{l} .1 = (2 \sin(\theta) + 1 = 0) \quad .2 = (4 [\cos(\theta)]^2 - 3 = 0) \\ .3 = (\cos(2 \theta) = 0) \quad .4 = (\cos(3 \theta) = 1) \end{array} \right]$$

$$No2 = \left[\begin{array}{l} .1 = (2 [\cos(\theta)]^2 + 3 \cos(\theta) + 1 = 0) \quad .2 = (2 [\cos(\theta)]^2 + \sin(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 - \cos(\theta) = 0) \quad .4 = (\sin(\theta) + \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \cos(\theta)) \quad .6 = (4 [\sin(\theta)]^3 - 3 \sin(\theta) = 0) \end{array} \right]$$

$$No3 = \left[\begin{array}{l} .1 = (2 \cos(\theta) - 1 = 0) \quad .2 = (4 [\cos(\theta)]^2 - 1 = 0) \\ .3 = (\sin(2 \theta) = 0) \quad .4 = (\cos(4 \theta) = 1) \end{array} \right]$$

$$No4 = \left[\begin{array}{l} .1 = (2 [\sin(\theta)]^2 - 3 \sin(\theta) + 1 = 0) \quad .2 = (2 [\cos(\theta)]^2 - \sin(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 + \cos(\theta) = 0) \quad .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \sin(\theta) = \sin(\theta)) \quad .6 = (4 [\cos(\theta)]^3 - \cos(\theta) = 0) \end{array} \right]$$

$$No5 = \left[\begin{array}{l} .1 = (2 \sin(\theta) - 1 = 0) \quad .2 = (4 [\sin(\theta)]^2 = 3) \\ .3 = (\tan(\theta) \cos(\theta) = \tan(\theta)) \quad .4 = (3 [\tan(\theta)]^2 - 1 = 0) \end{array} \right]$$

X [Page = 0015] XXX

:
:
:
:
:
:
:
:
:
:
:
:

XX

:

X Math@MUT XXXM5/1-6700306-00031XX

TrigonometryExercise6 for No.13519

$$No1 = \begin{bmatrix} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 3 = 0) \\ .3 = (\cos(4 \theta) = 0) & .4 = (\cos(2 \theta) = 1) \end{bmatrix}$$

$$No2 = \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 - 3 \cos(\theta) + 1 = 0) & .2 = (2 [\sin(\theta)]^2 - 3 \cos(\theta) - 3 = 0) \\ .3 = (2 [\cos(\theta)]^2 - \cos(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - \cos(\theta) = 0) \end{bmatrix}$$

$$No3 = \begin{bmatrix} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 3 = 0) \\ .3 = (\sin(2 \theta) = 0) & .4 = (\sin(3 \theta) = 1) \end{bmatrix}$$

$$No4 = \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 - \cos(\theta) - 1 = 0) & .2 = (2 [\cos(\theta)]^2 - \sin(\theta) - 1 = 0) \\ .3 = (2 [\sin(\theta)]^2 + \sin(\theta) = 0) & .4 = (\sin(\theta) + \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \cos(\theta)) & .6 = (4 [\sin(\theta)]^3 - 3 \sin(\theta) = 0) \end{bmatrix}$$

$$No5 = \begin{bmatrix} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 = 1) \\ .3 = (\tan(\theta) \sin(\theta) = \sin(\theta)) & .4 = ([\tan(\theta)]^2 - 1 = 0) \end{bmatrix}$$

XX

:

X Math@MUT XXXM5/1-6700306-00032XX

TrigonometryExercise6 for No.14276

$$No1 = \begin{bmatrix} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 3 = 0) \\ .3 = (\sin(2 \theta) = 0) & .4 = (\cos(4 \theta) = 1) \end{bmatrix}$$

$$No2 = \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 + 3 \cos(\theta) + 1 = 0) & .2 = (2 [\cos(\theta)]^2 - \sin(\theta) - 1 = 0) \\ .3 = (2 [\cos(\theta)]^2 - \cos(\theta) = 0) & .4 = (\sin(\theta) + \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - 3 \cos(\theta) = 0) \end{bmatrix}$$

$$No3 = \begin{bmatrix} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 1 = 0) \\ .3 = (\cos(3 \theta) = 0) & .4 = (\cos(2 \theta) = 1) \end{bmatrix}$$

$$No4 = \begin{bmatrix} .1 = (2 [\cos(\theta)]^2 - 3 \cos(\theta) + 1 = 0) & .2 = (2 [\cos(\theta)]^2 + \sin(\theta) - 1 = 0) \\ .3 = (2 [\sin(\theta)]^2 + \sin(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (2 \tan(\theta) \sin(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - \cos(\theta) = 0) \end{bmatrix}$$

$$No5 = \begin{bmatrix} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\cos(\theta)]^2 = 1) \\ .3 = (\tan(\theta) \cos(\theta) = \cos(\theta)) & .4 = (3 [\tan(\theta)]^2 - 1 = 0) \end{bmatrix}$$

X [Page = 0016] XXX

:

XX

:
:
:
:
:

X Math@MUT XXXM5/1-6700306-00035XX

TrigonometryExercise6 for No.14417

$$\text{No1} = \left[\begin{array}{ll} .1 = (2 \cos(\theta) - 1 = 0) & .2 = (4 [\cos(\theta)]^2 - 3 = 0) \\ .3 = (\sin(2 \theta) = 0) & .4 = (\cos(3 \theta) = 1) \end{array} \right]$$

$$\text{No2} = \left[\begin{array}{ll} .1 = (2 [\sin(\theta)]^2 - 3 \sin(\theta) + 1 = 0) & .2 = (2 [\cos(\theta)]^2 - 3 \sin(\theta) - 3 = 0) \\ .3 = (2 [\sin(\theta)]^2 + \sin(\theta) = 0) & .4 = (\sin(\theta) - \cos(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \sin(\theta) = \tan(\theta)) & .6 = (4 [\sin(\theta)]^3 - 3 \sin(\theta) = 0) \end{array} \right]$$

$$\text{No3} = \left[\begin{array}{ll} .1 = (2 \sin(\theta) - 1 = 0) & .2 = (4 [\sin(\theta)]^2 - 1 = 0) \\ .3 = (\sin(4 \theta) = 0) & .4 = (\cos(4 \theta) = 1) \end{array} \right]$$

$$\text{No4} = \left[\begin{array}{ll} .1 = (2 [\cos(\theta)]^2 - \cos(\theta) - 1 = 0) & .2 = (2 [\cos(\theta)]^2 - \sin(\theta) - 1 = 0) \\ .3 = (2 [\sin(\theta)]^2 - \sin(\theta) = 0) & .4 = (\cos(\theta) - \sin(\theta) = \sqrt{2}) \\ .5 = (\tan(\theta) \cos(\theta) = \tan(\theta)) & .6 = (4 [\cos(\theta)]^3 - \cos(\theta) = 0) \end{array} \right]$$

$$\text{No5} = \left[\begin{array}{ll} .1 = (2 \sin(\theta) + 1 = 0) & .2 = (4 [\sin(\theta)]^2 = 3) \\ .3 = (\tan(\theta) \sin(\theta) = \sin(\theta)) & .4 = ([\tan(\theta)]^2 - 3 = 0) \end{array} \right]$$

XX

[>